normalized X?

[ normalized x? probability |

0.07

0.06
1072
E 0.05
F Entries
03k 0.04 -[Sebe  o3pe
3 0.03
107F
10°F
o010y
B i
1
o IR S G Y LI RO e Ly
024 6 8 10 12 14 16 18 20 09%95.10.2 0.3 0.4 0506 07 0809 1
Na Prob(x?)

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

<o pTIpT > (Yo)

Ratio

= DQM_TT__CKF_ORIG
== DQM_TT__CKFandPLess_ORIG
m——DQM_TT__CKFandPLess_MODIF

R R S s SN S

1.6}

<op./p. > )

Ratio

102

107 1

10 10%

< X2/ ndf >

Ratio

=3 -1 0 1 2 3
TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

1072 107
AR(track, jetg)



	Contents
	Page 1


